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L (a) -ususly qud--d sidds e 53, 6
Discuss the scope of Financial Management.
A9/OR
YMs AHAAL ARubly Anasl oyfist e R,
Clarify the role of Finance Manager in modern times.
K

(b)  -tRuslY AuAAL AU Helsedl v yydl.
Explain the concept of maximisation of wealth in Finan¢ial Management.

HYW/OR

ARUstdHl Gute Al el Aol axondl,
Explain the relation of finance function with production management.

(¢) -teusid-l 3Raud e 3yl
Discuss the traditional approach of finance function.

AYa/OR
Al gl duAler ML s3L WAL 2uEe sl 2ud © 7

Which aspects are included in financial planning ?

34 il 22t 2R, sl WRealHl 2al s
Discuss the factors affecting formulation of capital structure.

#ual/OR
scllais 28 7 50.00,000-0 3 Glodl sza ol ©. 2 e d T 10 AL 215 val
SBadl 97 sl vl il © dul s Al sl Ul dl day Hidl
@ Ul ew-dat uddidl 45l T 15.00,000 eyl 2wl §. sudl W
528714l €2 40% ©. Sl SudlHl dlt W auwl €2 ¥ 20,00,000 @l-t 3yl

12% a1 2 20,00,000 l Guzl 253 M2 15% ©. 3l Qell s su-dl o [aseul
AR ©.
(1) 6Bl 1234 dur @l wHeL 3: 2 Amg, vud

2) SBEadl dzydl dul dld e 2: 3 aug,
2615 sl 2 sudlal sl [@seq e sl A ?
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(b)

(©)

(@

(b)

(c)

(a)

Classic‘Limited desires to raise capital of ¥ 50,00,000. For this it wants to 18sue

equity shares of ¥ 10 each and to borrow some loan from finance company.

Earnings before interest and tax for the company is estimated to be ¥ 15,0000,
The rate of tax on the company is 40%. The rate of interest on the loan from
finance company is 12% for loan amount up to ¥ 20,00,000 and 15%.f0r the
amount in excess of ¥ 20,00,000. Company is considering two alternatives for
raising capital.

(1) To keep proportion of equity shares and loan 3 : % or

(2)  To keep proportion of equity shares and loan 2 : )
Which altemla)lt?veps?muld he%%lec%ed by the company based on earning per share ?

sifaydlseill uRRal Fara s Gual yadl asi ? N
Which remedies can be suggested to remove the situation of over-capitalization 7
2§44/OR

512017 [aRey-tl vaid yuondl.
Explain the concept of operating leverage.
drelesArl Avid W Augudl Riade-l 22 awemal. &
Explain the effect of financial leverage on shareholders’ risk.
AYA/OR
aiotduoufl 34 Wl a3y Rel-=uz-l walewil asudl.
Mention the limitations of debenture as source of long term capital.

4

w 10\

sidella 3A- ¥3Ru1d su YRl v 2R 8 2
On which factors do working capital requirements depend ?
24al/OR
sidalle 4L [l wsii-l wledl sl
Give information about different types of working capital.
sidella 3l aaelaue sl
Clarify the characteristics of working capital.
24ql/OR
stdalla 4 AL siduel o Rgidll 2l s,
Discuss any two principles of working capital management.
aydl siflld 1Al ouraiAl suL e ? 4
Which are the dangers of inadequate working capital ?
2»Y4al/OR
sidalld 3 sl 44l well s 9 2
Why working capital is called circulating capital ?

| Lo

re (A2 Y4 v ol wlsdl A yorw ¢ -

([@ad

R
Bud ()

HANR

Bua (3)

Laldne
Wid

1 50,000 952l 212
3,000 [36l=4R
2,000 452y 3R
A 3dd sl ¥ 1,00,000

10
100
50

20
80
45

16%
8%
10%
14%

GuRAl Sl 2uaR ded RS

R Y olifed AU UsdR A

we sl Byd q

U oo oAl srd



The information about capital structure of Nandan Limited is as under :

. Book Market | Specific
Bt Value (?) | Value (%) | Cost
50,000 Equity Shares 10 20 16%
3,000 Debentures 100 80 8%
2,000 Preference Shares 50 45 10%
Retained Earnings ¥ 1,00,000 — - 14%
dan Limited using book value

Find weighted average cost of capital for Nan
weights and market value weights.
9q/OR

5161 RIB2s T 22,00,000-0 Batd s da vileal uidl 8. 2t 4l eour B3
detl e et Gualol vy 2id T 2,00,000 v vl . 4o uR uAR]
8. &udl w

(] QA ugfizl ol 2id 8. syl w2 3 wdz 12%
52Q314l €2 40% ©. AR Al w2 v damiel 52431 oledl Asldal 12% -l

qzlarl g3 31 adauqt yeu DA e o
| ad 1 2 3 4
s20le 5l () 3,00,000 | 3,50,000 | 4,00,000 |2,50,000

T1 4 add 3t 0.893 0.797 0.712. | 0.636

Gual Ml 2uaR :

(1) a2 As18L YR Aqdz-L e+l dal
(2)  AsLsRSdlAL Aisl 2Ritdl 52U
Crown Limited wants to purchase a machine costing ¥ 22,00,000. The scrap value
of this machine is estimated to be T 2.00,000 after.its useful life of four years.
Depreciation on machine is calculated by straight line method. Average cOst of
capital for company is 12%. The rate of taxés on company is 40%. Profit after tax
expected to arise from this machine and present value of ¥ 1 at 12% discount rate

are as under.

[ Years 1 3 3 4

Profit after tax (%) 3,00,000" | 3,50,000 4,00,000 | 2,50,000
0.893 0.797 0.712 0.636

| Present value of T |
From the above information calculate :

(1) Rate of returmn on average investment

(2) Profitability Index
sz wldl el g a2 (R A dedd sl ?

b arollegel sl sld
qudl ? 4
“There isTo cost of retained earnings.” Do you agree with this statement ? Why 2~
»9al/OR
il oogedl ued 2 ygld wmonal.
Explain Pay Back Method of capital budgeting.
(©)  BBadl deydll usdaz e w2l [afads o 1udl. 4
Explain dividend approach for computing cost of equity share capital.
»ua/OR
2lss ualed aduir yed vled g ? -l aetd?l 3l Jld s2al ?
What is present value of cash flow 2 How would you calculate it ?
P.T.O.
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(&)

(b)

A wel axAnal :

Explain the following terms :

(D
2
(©)
(4)
(3)

(6)

AlRuSlY Awda-
Financial Management

sy dlsel
Undercapitalisation
wellysd 3dl
Watered Capital
$Badl Rl R
Trading on Equity
AL widR

Cost of Capital

Yl axe
Capital Budget

QAL WAL Wt ¥ EsHL el 2l
Give very brief answers to the following questions.
(1) sl 2ufs »UBeEr el teusid-l A8l L sil ¢ ?

(4)

(6)

(7)

(8)

Which are the three aspects of finance function according to the modern

approach of finance function ?

sl #enHlsel wed g ?

What is maximisation of profit ?

it lszeiAl sellAl ael sl

Give a list of causes of overcapitalisation.

aiowenan-d 3 e wlfdzu-Al sut o ?

Which are the sources of long term capital ?

vl silalld AL 2 2l

Give the meaning of net working capital.

sl sl Al uest s 6 2

Which are the components of working capital ?

B Qele A5z szl 3 A widz outard 3 .
Give the formula for computing cost of capital of redeemable preference
shares.

3 ql spedl [lfay waliail Feual.

Mention different techniques of capital budgeting.




